
MyBar.io
6. Final assembly and closing

This is the last step. You are almost there!

Written By: MyBar.io

6. Final assembly and closing Draft: 2023-03-19Guide ID: 6 -

This document was generated on 2023-03-21 01:22:46 AM (MST).

© 2023 diybar.dozuki.com/ Page 1 of 8



Step 1 — Back tubing (Components)

Tubes Holder (Back)

Silicone Tube Connectors (9x)

Silicone Tubing 36in (9x)

Step 2 — Back tubing

  

Insert the Tubes Holder (Back) into the back panel.

Insert the Silicone Tube Connectors inside Silicone Tubing 36in (9x).

Insert the other end of the Silicone Tube Connectors into the Tubes Holder (Back).

6. Final assembly and closing Draft: 2023-03-19Guide ID: 6 -

This document was generated on 2023-03-21 01:22:46 AM (MST).

© 2023 diybar.dozuki.com/ Page 2 of 8



Step 3 — Back tubing connections

 

Connect the Back Silicone Tubes coming from the motors to the matching number on the Tubes
Holder (Back).



6. Final assembly and closing Draft: 2023-03-19Guide ID: 6 -

This document was generated on 2023-03-21 01:22:46 AM (MST).

© 2023 diybar.dozuki.com/ Page 3 of 8



Step 4 — Connect all the wires to the board

 

Connect the distance sensor according to the image.

Connect the LED according to the image.

Connect pumps 1 to 9 starting with pump number 1 on the left according to the image.

Close the Back panel.

6. Final assembly and closing Draft: 2023-03-19Guide ID: 6 -

This document was generated on 2023-03-21 01:22:46 AM (MST).

© 2023 diybar.dozuki.com/ Page 4 of 8



Step 5 — Install LED Holder

 

Tubes Holder (Front)

Install the LED holder in the center hole.

6. Final assembly and closing Draft: 2023-03-19Guide ID: 6 -

This document was generated on 2023-03-21 01:22:46 AM (MST).

© 2023 diybar.dozuki.com/ Page 5 of 8



Step 6 — Front tubing connections

  

Tubes Holder (Front)

Insert the Tubes Holder (Front) into the Top front bottom panel and rotate slightly until it locks in
place.



Insert the LED in the LED holder.

Connect the Front Silicone Tubes coming from the motors, in any order, to the Tubes Holder
(Front).



Step 7 — Close the top (Components)

Top panel

Screws M3 10mm (Black) (2x)

M3 Nuts (2x)

6. Final assembly and closing Draft: 2023-03-19Guide ID: 6 -

This document was generated on 2023-03-21 01:22:46 AM (MST).

© 2023 diybar.dozuki.com/ Page 6 of 8



Step 8 — Close the top

 

Take the case and insert two M3 nuts.

Connect the case with the Top panel.

Insert the M3 10mm screws through both holes on the top. Start tightening until you reach the M3
nut. Tighten both screws all the way.



Step 9 — Tubes Organizer

  

Insert the Tubes Organizer into the Back panel.

6. Final assembly and closing Draft: 2023-03-19Guide ID: 6 -

This document was generated on 2023-03-21 01:22:46 AM (MST).

© 2023 diybar.dozuki.com/ Page 7 of 8



Step 10 — You are done!

It's time for a cocktail! Don't forget to
download the mobile app.



6. Final assembly and closing Draft: 2023-03-19Guide ID: 6 -

This document was generated on 2023-03-21 01:22:46 AM (MST).

© 2023 diybar.dozuki.com/ Page 8 of 8

https://play.google.com/store/apps/details?id=barapp.thinkmakelab.com.bar

	6. Final assembly and closing
	Written By: MyBar.io
	Step 1 — Back tubing (Components)
	Step 2 — Back tubing
	Step 3 — Back tubing connections
	Step 4 — Connect all the wires to the board
	Step 5 — Install LED Holder
	Step 6 — Front tubing connections
	Step 7 — Close the top (Components)
	Step 8 — Close the top
	Step 9 — Tubes Organizer
	Step 10 — You are done!


